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https://es.wikipedia.org/wiki/Memoria_RAM
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https://es.wikipedia.org/wiki/EEPROM
https://es.wikipedia.org/wiki/Conversor_anal%C3%B3gico-digital
https://es.wikipedia.org/wiki/Conversor_digital-anal%C3%B3gico
https://es.wikipedia.org/wiki/Conversor_digital-anal%C3%B3gico
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𝐸𝑎 = 𝑉𝑚 − 𝑉𝑣

𝐸𝑎 = 38.75 ℃ − 38.7 ℃

𝐸𝑎 = 0.05 ℃

𝐸𝑟 =
𝐸𝑎

𝑉𝑣

𝐸𝑟 =
0.05 ℃

38.7 ℃

𝐸𝑟 = 0.00129199

𝐸𝑟 = 0.00129199 ∗ 100%

𝐸𝑟 = 0.129%

𝑚𝑒𝑑𝑖𝑎 =
𝑉1 + 𝑉2 … + 𝑉𝑛

𝑁𝑉
 

𝐸𝑎𝑐 =/𝑉𝑟 − 𝑉𝑚/ 
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𝐸𝑎𝑡 =
𝐸𝑎1 + 𝐸𝑎2+. . . +𝐸𝑎𝑁

𝑁𝑀
 

𝑚𝑒𝑑𝑖𝑎 =
𝑉1 + 𝑉2 … + 𝑉𝑛

𝑁𝑉
 

𝑚𝑒𝑑𝑖𝑎 =
38.71 ℃ + 38.73 ℃ + 38.69 ℃ + ⋯ + 38.74 ℃

20

𝑚𝑒𝑑𝑖𝑎 = 38.727 ℃ ≈ 38.73 ℃

𝐸𝑎1 = 38.73 ℃ − 38.71 ℃ = 0.01 ℃

𝐸𝑎2 = 38.73 ℃ − 38.73 ℃ = 0.01 ℃

𝐸𝑎𝑛 = 38.73 ℃ − 𝑡𝑒𝑚𝑝𝑒𝑟𝑎𝑡𝑢𝑟𝑎 = 𝑛

𝐸𝑎𝑡 =
0.4 ℃

20
= 0.02 ℃
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